(51) ¥ »= eVsec Y =€’ tan. U, dhey, evcluale 20%8)

o (UB)
53, = (B = [ , S 2LY,6
(62) Y x=7cese, 4 YSLHQ-&pJJLde)—) |
(53) 19 L:Y.sln@&’?-ﬁ, Yy=7yonesng, z=vcs &, Jund 27, &)
0 (4,7)
(54) Vesfy Ty'=L &f £ =2,4 =AU lan ¥, 2=
5) TP U=2YZ B—J{ R+yt+zd, w=xtd+z, gund 29D
sl Eg l ’ EXETRIANY,

(66) I =¥ ,4 =IRT, Z=JUB and U=7SIne oS ¢, %= VSne-Sinch,
=vces e, Hun cleuldle dhe Tacebosan 20%4:2)
(Y &)
GRHHXIITZ=U, Ytz = W&, Z=UWN, ghaw dhat J(XY,2) _
(U8 1)
(58)3 U= X+ X + X)) ?_ﬁlu_i =Xt , 2@%7_;3 = g’}«u\-d 2 (2% Us )
aLleXﬁ}%g>
[(59) 8w W wte dhe stoutp of the cubie (A-2PH(A-yf +(4-2)% =0
n A, thon and 9 (A5 )
206,4,72) 1
(60) G4 U, ¥/ 1w are dhe- steals of dhe- equeabion (v-aPry-bP +(z-ef=0
Jhun pnd (W R)

9 (ayb;c)

W

(I U=2X+29+Z 0 =2-29+37Z, W=2%Y~-2Z 14YZ —2Z2, pha
Jhat they are not dndepindont | Fing the stelalion bedioeem thean, -
(G;L)gfu-: at_z_;g,w--——irzz—_) W=Y4(x1Y+Z) dhun ghad dhak U, 9,0

are nat undepondonl and fund ﬁg&ﬂaﬁ@’hab&t(D&MM-

(63) Uge the Jacoblon d5 potove that dhe. gaunchion U=xyt+yz+z o,
Y=t Y2+22, Y= L+tY+7Z ate mtdm.d-e{»tnd&mt of ene
anathest - Find dhve stedation befioeegm, dhim o

(CH) mmMMmuz %Z,w—:% M\r_.!l@«m%dqﬁmw?
99 p&1 Sund the scedabon befioeen dhm, .

(65) shaw Thak U=Y+Z, V= £+272 , W = XL-4Y Z -2 Y% are. nak
wndependnt « Find the aedalion befipeemn dhom .

o) U=RtY+Z, %=L +yi+7% , W=23+Y3+72 32 Y Z, ppove.
dhat 21,10 e nat dndepondonl | funce. dund the scelalion
belioeemn dheyre




(6F)Find exbteme values of Junclion x3+Y3 -3a2y -

(€8) Examine ot exlicesmne. valuee of 22 +4%—63 (2tY) Tiaxy.

(63) $p o plane. Buangde ABC, $und dhe maximiun velue. of
Cesp CasR CesC

(Fo) & scectangulat bex, cpen af the Lep, Lo E\‘Vw&@g\m
Copactly « Fund the domengiens of the bt steq uusing
leapk matesual foro dbs conpiuac ion.

(F1) Divide 24 unte dhowe parde pach dhat the continued pocediet
of the Pk, pguane of dhe gecond and dhe calie cf the
Hwoed ’)rr\—ﬂ,_ijbe Mg{jnm.

(F2) Dwvide @ namlrest 1o dnte does pasde pe thak the tuum of
thewot powwduct daken bwoes ak o fme shall be. masgimunn. -

(#+3) Lecabe dhe pbatvenarty J(D(Q&,n}: of A4 Yt —g 2 4y —ayd
and delestmine dhelt naliste -

(F4) Exomine Jwv exlsceime. volueg of the fdllawung ;

(@) 32242 + x> (b) Sina SinY sin (X+Y) (€) L(x=Y ) —xh —y4

(#5) Use. Lagwange's methed do delesimine dhe minimmon duatance
fowom dhe esugun o the Rlane 30 +4Y +Z = (2.

(7€) Find, by using Lagoconge's medhod , the. mipimuwm digfance
Jowm dhe poink (1,2,0) & dhe cone 72 =22 +92.,

(77) Find dhe manecmian end wenomaun distanceg of dhe 4oeink (3,4,12)
{fmh"ﬁw 3@-’—311— Z2 = 1.

(#8) Find dhe maemum and memLmin digtanceg dotom dhe @wgin
& dhe crwse 22440y +6 92 =40

(#9)Find dhe- phodesk and longe gl digdances gl
e dhe phbheste 22 +ya ¢ 73 — ol gucom nﬂ\E--f aink (L)

(g0) She- bumpualixe T ok any peink 4,2) an ppace s T(xu,2)=
kY zt whesee K s conplant - Find dhe highest dompesclioe.
on the- pawcface of dhe b«}:?}u‘—‘-"ff— -t Y2 + 7% = g2

(81) Find dhe exbe e valuwe of 22 +y2+4 z2 pubject $o the
condidlzen LYy+yz+zZzx =p )

(84) Find dhe mimbmum valde of #2+y2+ 722, guotn dhat

arthbytcz =p

(63 F'xm:\,ubdf\{j Lagsange's methed , the valuyne. <y Lﬁ\,e,ilw%eat
scectangulort paredbelepoped thab can e ungeoibed un the

E.Qﬂi-t:&@lad' .S et—_Sj' +_'§_—3’ = |

Q= bL c*




(84) Usng Lagiange s medhed, gund dhve dimunslons of e scectangudar
bo of manianumn capacily whese puace area db given cxyy

(@) box Jds open ot dhe dop (b) bow L& clased-

(65) Using Lagruange's medhed, find dhe dimengieons of a sceclangular
b%M&MdW@P;W&W&@G{S&OCoMM
B deask makesdal ds sequirted go-c the. conglxicdion of dhbexs

(ae) # scectangulart bex, mo}»@wdmw,m@c@@u@
of 256 cubic feel. peLestmine the domangdiont of dhe bex.
wmmww@&@ﬂ&s@q}wmmw@m =
fien of the box . Use Lagscange s methed & alitain paladion -

(6%) TFhe pestied T of @ gonple pindulum ds T=2ax[8 . Find dthe
mmm £ em%ﬁTdﬂﬁ@{:@@ﬂQﬁgw@fﬁ@f
2% w d and 5% wn g-

(86) e dime T of @ complede sscillatien of @ pimple fponduluum
of Lingth L do gevesned by dhe equiavon T'—'-&'Kf%—._ ) g L
conglbant - Find dhe appeterimate eswwt un calcudated value o
T cavesponding & an eowwe e 27, wn Hhe value of L.

(99) Fhe. pawee p oequiired do towped @ pleamest of dungth { ak
@ ppeed W b guoen by P =Au3 3 wheste A ¥ canpdant - §f U @&
dnceeased by 3%, and { & decoceared by 19, Jund dhe.
carpoehonding dncocease un P.

(30) e Amj‘:ieka:gand height of @ sight corcadarnt cg\ﬂ,émd&\m XE.
faund by meagutnet $8 be @ e and ta-5 cm- sespeciovely
wilh pessible estarte of 005 n each meagutemant « Find dhe
yaxamun pessible appoteximale ectstet wn dhe vadaome. -

(31 Find e pessdle peowontage esowt an onq the Jparalled
sepiblance v of twe ocepislances v, QMW Mw
%3—%-1'%%"‘%&&&3&% an bath ¥y and 75 dp 27, each-

(92) Find dhe peacentage esstar an dhe axeaof an edlepre whan an
et of + 19, L made Ly NELUng dhe majart & MUNRTT CQUXEE ©

(33)9¢ the bage cwadiug and hedghk of a cone ol meagoted e
L and 6 dnches coldh @ Wmﬁlﬁ et G‘S 004 and O‘bocig_uaﬁ_cw
Jiepheclosesy caleadabe dhe pocunlage. estart 4n alng

valawme ef e cone:
(94) & ballopn &b wn dhe Jaeon <t ou_@\\k uﬂmﬂ'afbcj&mm f

scadiup 15 o and Lengdh 4m and s pwtmeunded by kembﬁlwaq
endg 39 dhe owadidug Ly dneoeakded by ocolm and Length by o5 m
Jundl dhe prectniage change un dve velume of ol LEem .




|(95) Fhe. peswed &f O pbinhle. eondudum s T=axJT_Fmd the ymag.
beowcantage ectart dn T dwe B e bessddrle. &EW upts 19
(e

I d end 2:5% un g«
(96) dhe angles of a beangles are calewlated gowom e pides a,
bice §¢ tunall changeg Sa,8h) Sc wee made un dve pades , fund
SR, 5B, 5C a*ptwﬂwut&.ﬂg; wheoe A ¢ dhe atea of dhe Huangle

and A,B,C arce angles eppesrte &5 gides /b, C O(faf&[t)cc\h'fu&% ’

Alpe shew dhak SptSR +6C =0
pile of boucks measawsed agp

(37) In eptomaling dhe. cssk of @
e vs0mK4m, dhe dape Js phetched 196 beyend e sland-

atd Lengdh . G e cout &8 12, bobeks dn L m2 and boucks cosk
3 100/ 1000, find dhe opprermate coo@e dn dhe. cest -

(90) g4 A &b dhe axea of @ M\»g&e,pmcw.ihﬁ&mmA
otesulling fown pumall eseswt wn C 4o guoen by
- i
so =Ll frdmteg Teel®C

(93) fhe height h and the gemi-vesutical angle o of @ cone e

meagwed and focom dham, A, dhe tatal 2 asced, o
the. cone, including the base., &s calcadaked « $9 b and & arce
dn eowwart by pmall quantibies Shand S« steppectivaly,Sund
fhe coxsesponding et dn ¢he ae - Shew gusdtheot dhed
i 4= T/6, an ot &f +1% dn h ol be appocaximatedy
compengabed by an eswurt @f —0:33°%, un o .
(100) Fhe cale f flow @ of walest pest pecond ovest e shartp-
edged natch of Langdh a,u@wweﬁ&\eg@m Jesel of the

watest above the balfem of dhe naeh bedng h, s g40tn by the
Q,:c(ﬁ.—bg) \F2, eoheote C s corvsdink » shaw that fax

sacmula _
Mnﬂem&hmmmq h, dhe estotant S6u I
G s & C(3d-h) W6k
Clol) e, five pides of o dxiangle axe meapduted as 50 cm and 30 cm
and the angle befioeeom dhom (s 30° QY dheote. are peguible.
Eolas of 057w dthe measuwscemant of dhe gides and oes
degoee wn dhat of the angle, find dhe. magumdun appoceximate
pesccobage ese@t un measung dhe aren of the bwangle.,
(o) hhe sepimbonce R of o coccuil was gound by gevnule 1= E ,
¢ Bheoce g an exart of o1 amp-dn steadng 1,075 vmm@RE,
fand dhe. caxsesponding pegsuble pestcuntage ddmagm e ar in
R cohin eadings aste I= |5 amp e and E =loo vads
(103) vohat evtet wn commen degaxidbm of @ nuumbese will be poeduced
bﬂm\,eoc,mm@f LY wn dhe numbest?




(lo4)Compile an afprceximabe valwe of (L-04)3-0L
(lo5) compute. an appocanimale valuwe of L3622 +4(2:1)° ] Y5

(o6) §f fLmy)= 22471, compuke dhve value of £ chin x=1:99,9= 3-0f
(16F) Evalucke dog L C101)"3 +(0°99) %4 -1 ] appsasmnaledy -

(160) Evolitate Leg [ Ci-03)73 4 (0¢g 8)/4-1] w{.apw@)mteﬂ:xp .




